Sec 7-3: Solving systems of equations using
ELIMINATION

Solving by elimination may involve:
¢ Just adding or subtracting the two equations

e Multiplying one of the equations by a constant
then adding or subtracting.

o Multiplying both equations by a constant then
adding or subtracting.

Solve this system of equations using Elmination.

Subtract the equations and you will eliminate the P's.
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Solve this system of equations using Elmination.

Add the two equations together and you will eliminate the k's
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Solve this system of equations using Elmination.
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Solve this system of equations using Elmination.

Multiply the seco

nd equation by 5 then add the equations together to elirpinate the d's. SOIVe thIS SyStem Of equations USing EImination.
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Solve this system of equations using Elmination.

You could eliminate the m's by doing this:
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